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Note

Note -

(a)

The maximum marks printed on the question paper are
applicable for the students of Category "B’. These marks
will, however, be scaled down proportionately in respect
of the students of Caterogy “A’ at the time of posting
of awards for compilation .of result.
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Answers may be written ejther in English or in Hindi:
but the same medium should be used throughout the
paper.
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Attempt 4/] questions.
All questions carry equal marks.
Use of simple caiculator is allowed.
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The *Wealth-maximization® objective provides an
appropriate criterion for financial decision making,.
Explain. 7
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Explain risk-return trade off in financial decision

making, 8
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Explain the different types of financial decisions

that form in subject-matter of corporate financial

management, | 7
() What is an annuity ?

(i) Your friend wants 1o go on a world tour after
10 years. The tour is expected to cost T 5 lakhs.
How much amount should he invest annually
to have a sum of T 5 lakhs after 10 years, if he
can get an earnings of 10% per annum on his

. investment 7 26
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{(a)  What is Capital budgeting ? Why are Capital budgeting

decisions considered significant for the firm ? 7

(6}  “The payback is one of the most popular and widely
used methods of evaluating investment proposals.”

Examine the statement. 8
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Explain the concept and mernts of IRR methoc of

Capital budgeting. 7

Bajaj Ltd. is considering an investment proposai requiring
initial investment of ¥ 50,000. The estimated life of the
project is 5 years and no salvage value, The company
uses SLM method of Depreciation. The corporate tax rate
is 35%. The estimated profit before depreciation and rax

from the investment proposal are as follows :

Year Profit before Depreciation & Tax
1 11,000
2 ' 20,000
3 18,000
4 15,000
5 12,600
Calculate :

{1 Net Present Value (NPV)
(i) Profirability Index (Pl

both at 10% discount rate. : 8
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Two firms U & L are similar in every respect except
that U is an all equity firm while L has 9% T 5§ lakhs
debt, EBIT of both firms is ¥ 4 lakhs. and the
tax-rate is 40%. Equity capitalisation rate for U is 15%.
Calculate the value of each firm according to M-M

approach. _ 8

Comment on the following :

(N “Debr is the cheaper source of funds™

(/i)  “The retained eamings is cost free™. 7
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X Ltd. is selling its product at ¥ 2 per unit. The variable
cost of manufacturing has been estimated at 35% while
the fixed cost at the present sales level of one lakh units-
comes to T 1 lakh. The company has issued 14%
debenures of ¥ 26,000. Find out the operating, financial

and combined leverage for the firm. 7

Compute the after tax cost of capital in the following

cases {assuming 50% tax rate) :

(# A perpetual bond sold at par, coupon rate of

interest being 7 per cent,

() An equity share selling at a current market price
of T 120, and paying a current dividend of
¥ 9 per share, which is expected to grow at a rate
of § per cent. ) 8

PT.O.
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What is a stable dividend policy 7 Why has stable dividend

policy been followed by the companies ? 15
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The following information is available regarding three

companies A Ltd., B Ltd. and C Ltd. :

A Ltd. B Ltd. C Ltd.
r— 15% r= 5% r 10%
Ke = 10% Ke= 10% Ke = 10%
E- T8 E-T8 -8

Calculate the valve of Equity share of these companies
applying Walter's model when dividend pay-out ratio

{D‘P Ratio) is :
(@) 0P

(n 500

(c) 100%.

What conclusions do you draw ? ' 15

PT.O.
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() “Cash Budget is the most important tax to plan and

control ‘cash inflows and cash outflows.” Explain. 7

th)  What are the determinants of working capital
requirements of firms ? How inadequate working capital

can be dangerous ? 8
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What is credit policy ? Explain the significance of

“credit terms” in a credit policy. 7

X Ltd. is ecngaged in sale and purchasc of durables. It
expects to attain a turnover of ¥ 60,00.000 next year.
Past experience shows that the operating cycle of the
firm is 90 days. It requires a cash balance of ¥ 1.00,000.
Find out the expected working capitél requirement given

that the year consists of 360 days. 8
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